

			T-4-1	Cost	
D 1	D 1 (N)	0 1	Total	Per	B 1 :
<u>Producer</u>	Product Name	<u>Cost</u>	<u>OZ</u>	<u>Ounce</u>	<u>Packaging</u>
Diamond Natural	Beef & Rice	\$42.99	640	\$0.07	Dry
Black Gold	Explorer	\$56.19	800	\$0.07	Dry
Pedigree	Small Dog	\$15.98	224	\$0.07	Dry
Purina	Lamb & Rice	\$43.28	498	\$0.09	Dry
Wag (Amazon)	Salmon & B Rice	\$46.49	480	\$0.10	Dry
Purina	Pro Plan C&R	\$62.68	600	\$0.10	Dry
Purina	Lamb & Rice	\$27.58	264	\$0.10	Dry
Wag (Amazon)	Chick & SP	\$40.94	384	\$0.11	Dry
IAMS	Chick & Turkey	\$61.99	576	\$0.11	Dry
Purina	Chick & Rice	\$65.98	600	\$0.11	Dry
VICTOR	Nutra Pro	\$72.99	640	\$0.11	Dry
IAMS	Lamb & Rice	\$29.98	240	\$0.12	Dry
Blue Buffalo Life Prot	Chicken&Brn Rice	\$61.73	480	\$0.13	Dry
Blue Buffalo Wilderness (HP)	Life Protecytion	\$64.98	480	\$0.14	Dry
Purina	Sensitive Skin	\$65.98	480	\$0.14	Dry
VICTOR	Nutra Pro	\$35.14	240	\$0.15	Dry
Cesar	Small Breed	\$11.98	80	\$0.15	Dry
Royal Canine	Giant Adult	\$84.99	560	\$0.15	Dry
Nature's Recipe	Lamb+	\$9.88	64	\$0.15	Dry
IAMS	Mini-chuncks	\$17.98	112	\$0.16	Dry
Purina	Pro Plan C&R	\$47.48	288	\$0.16	Dry
Hills	Chicken +	\$39.99	240	\$0.17	Dry
Nulo	Acient Grains	\$66.99	400	\$0.17	Dry
Wellness	Chick &Oatmeal	\$41.46	240	\$0.17	Dry
Wellness	Complete Health	\$41.46	240	\$0.17	Dry
Merrick	Large Breed	\$84.98	480	\$0.18	Dry
Life Abundance	Turkey+	\$102.06	576	\$0.18	Dry
Purina	Pro Plan C&R	\$18.98	96	\$0.20	Dry
VICTOR	Nutra Pro	\$15.99	80	\$0.20	Dry
Royal Canine	Medium Breed	\$99.99	480	\$0.21	Dry
Acana Limited	Meadowland	\$83.99	400	\$0.21	Dry
Merrick	Beef/Swt Potatoe	\$73.98	352	\$0.21	Dry
Open Farm	Turkey & Grains	\$74.99	352	\$0.21	Dry
Wag (Amazon)	Chick & SP	\$13.91	64	\$0.22	Dry



				Cost	
			Total	Per	
<u>Producer</u>	Product Name	Cost	<u>OZ</u>	<u>Ounce</u>	<u>Packaging</u>
Natural Balance	Bison Recipe	\$79.98	352	\$0.23	Dry
Open Farm	Chicken Recipe	\$87.99	384	\$0.23	Dry
Royal Canine	Golden Retriever	\$109.99	480	\$0.23	Dry
Inception	Fish Recipe	\$15.03	64	\$0.23	Dry
Visionary Keto Pet Foods	Real Meat Recipe	\$89.99	352	\$0.26	Dry
Royal Canine	Small Pet	\$59.99	224	\$0.27	Dry
Hills	Perfect weight	\$48.99	180	\$0.27	Dry
Natural Balance	Duck & Potato	\$52.98	192	\$0.28	Dry
Essence Pet Foods	Ranch Recipe	\$110.49	400	\$0.28	Dry
Acana Limited	Beef & Pumkin	\$58.99	208	\$0.28	Dry
Royal Canine	French Bull Dog	\$79.99	272	\$0.29	Dry
BIXBI	Original Recipe	\$18.99	64	\$0.30	Dry
Liberty	Original Recipe	\$18.99	64	\$0.30	Dry
Royal Canine	Chihuahua	\$61.99	160	\$0.39	Dry
Instinct	Original	\$24.99	64	\$0.39	Dry
Open Farm	Pork	\$24.99	64	\$0.39	Dry
Nutro Ultra	Chick,Lamb,Salmon	\$25.98	64	\$0.41	Dry
Natural Balance	Sweet Po+Bison	\$79.98	192	\$0.42	Dry
The Honest Kitchen	Chicken Recipe	\$73.21	160	\$0.46	Dry
Ketogenic Pet Foods	Keto-Kibble	\$62.49	128	\$0.49	Dry
Visionary Keto Pet Foods	Real Meat Recipe	\$27.99	56	\$0.50	Dry
Dr. Harvey	Canine Health	\$46.00	80	\$0.58	Dry
Ketona	Chicken Recipe	\$39.99	67	\$0.60	Dry
TOP Shelf Dog	Chicken Dinner	\$34.93	56	\$0.62	Dry
Ketona	Salmom Recipe	\$42.99	67	\$0.64	Dry
The Honest Kitchen	Human Grade	\$42.13	64	\$0.66	Dry
Nature's Diet	Simply Raw	\$32.99	48	\$0.69	Dry
Dr. Harvey	Paradigm	\$84.56	96	\$0.88	Dry
Dr. Harvey	Raw Vibrance	\$51.95	48	\$1.08	Dry
Dr. Harvey	Healthy Weight	\$86.99	80	\$1.09	Dry
Dr. Harvey	Paradigm	\$53.95	48	\$1.12	Dry
Instinct	Raw Boost/Beef	\$18.23	14	\$1.30	Dry
ZIWI	Beef	\$57.17	35	\$1.62	Dry



				Cost	
			Total	Per	
<u>Producer</u>	Product Name	Cost	<u>OZ</u>	<u>Ounce</u>	Packaging
Sojos	Complere	\$119.33	112	\$1.07	Frz Dry
Nutri Complete	Beef & Organs	\$149.70	96	\$1.56	Frz Dry
Dr. Marty	Nature's Blend	\$164.70	96	\$1.72	Frz Dry
Dr. Marty	Nature's Blend	\$85.35	48	\$1.78	Frz Dry
Dr. Marty	Nature's Blend	\$29.95	16	\$1.87	Frz Dry
Nutri Complete	Beef & Organs	\$29.95	16	\$1.87	Frz Dry
Vital Essentials	Chicken & Rice	\$32.29	16	\$2.02	Frz Dry
Vital Essentials	Turkey	\$32.77	16	\$2.05	Frz Dry
Essence Pet Foods	Beef Mini Nibs	\$33.49	16	\$2.09	Frz Dry
Vital Essentials	Beef Mini Ribs	\$33.49	16	\$2.09	Frz Dry
				Cost	
			Total	Per	
<u>Producer</u>	Product Name	<u>Cost</u>	<u>OZ</u>	<u>Ounce</u>	<u>Packaging</u>
Pedigree	Chopped Dinner	\$27.48	264	\$0.10	Wet
Purina	ONE	\$18.52	156	\$0.12	Wet
Just food for Dogs	Turkey+	\$89.40	400	\$0.22	Wet
Blue Buffalo Wilderness (HP)	Stew	\$35.76	150	\$0.24	Wet
Blue Buffalo Wilderness (HP)	Salmon & Chicken	\$39.00	150	\$0.26	Wet
Merrick	Variety Pack	\$43.49	152	\$0.29	Wet
NUTRISH	Premium	\$13.84	48	\$0.29	Wet
Merrick	Variety Pack	\$45.78	152	\$0.30	Wet
Essence Pet Foods	Ocen & Freshwater	\$47.92	156	\$0.31	Wet
Weruva	Variety Pack 2	\$55.99	168	\$0.33	Wet
Butcher Block	Pate'	\$25.20	63	\$0.40	Wet
Fresh Pet	Chicken Recipe	\$13.49	32	\$0.42	Wet
Blue Buffalo Delights	Prime Rib Flavor	\$17.76	42	\$0.42	Wet
Halo Garden	Plant Based	\$27.99	66	\$0.42	Wet
Just food for Dogs	Topper	\$59.40	132	\$0.45	Wet
Just food for Dogs	Beef & Potatoe	\$59.40	132	\$0.45	Wet
Blue Buffalo Wilderness (HP)	Home Style	\$69.81	150	\$0.47	Wet
Cesar	Classic Loaf	\$27.96	56	\$0.50	Wet
Just food for Dogs	Variety Pack	\$59.47	100	\$0.59	Wet



				Cost	
			Total	Per	
<u>Producer</u>	Product Name	Cost	<u>OZ</u>	<u>Ounce</u>	Packaging
Just food for Dogs	Sampler	\$78.53	126	\$0.62	Wet
Just food for Dogs	Variety Pack	\$78.53	126	\$0.62	Wet
Just food for Dogs	Pantry Fresh	\$62.60	100	\$0.63	Wet
Weruva	Belly Nice Variety	\$24.89	35	\$0.71	Wet
Just food for Dogs	Fresh Boost	\$39.95	50	\$0.81	Wet
Cesar	Wholesome Bowl	\$29.40	30	\$0.98	Wet
Nulo	Chicken Recipe	\$29.80	20	\$1.49	Wet
Just food for Dogs	Chicken & Rice	\$89.40	50	\$1.81	Wet

⁽¹⁾ Prices taken from Amazon March 2023. Although every effort taken to ensure accuracy, use at own risk.